
Note: because you are ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers of the questions of week 2 should be handed to me at the beginning of Thursday’s lecture of 9th March. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Please write WEEK 2 in bold at the beginning of your answers.

Week 2: The effects of deflation (closed economy)
L3
1.What does deflation mean?

2.  What’s the argument according to which deflation may lead to the elimination of unemployment?
3. Why isn´t the market able to solve the problem of unemployment according to New Keynesians?

4. If unemployment led to lower nominal wages prices would be more likely to fall than otherwise. Why?

5. If the prices of all gods and services fall, aggregate nominal income will necessarily fall by the same proportion. Why?

6. “If all goods and services become cheaper, the purchasing power and thus AD will rise.” Do you agree? Explain.
7. If the price a good falls, then its demand rises.

a) Why?

b) Why doesn’t the same happen when the price of all goods falls?

8. “Leave aside all the other effects of falling prices. “If prices fall by less than nominal wages, then consumption rises”.  Do you agree? Explain.

9. a) According to the Pigou Effect, falling prices may contribute to reduce U. why?

b) What’s the problem with that argument.

10. a) According to the Keynes Effect, falling prices may contribute to reduce U. why?

b) What’s the problem with that argument.

L4
11.  Falling prices may lead to the postponement of which sort of consumption purchases? Explain.

12. Falling prices may lead to the postponement of even self-financed investment projects. Why?
13. Indicate the various ways in which economies rely on debt to function.

14. Why do falling prices tend to increase the number of households and businesses unable to meet their debt services?
Consider first a relatively small number of non-performing loans.

15. What’s the implication of that fact on banks’ balance sheets? Explain

16. Explain the ways banks have of solving their problem.

17. One of the ways may have nasty consequences for the economy. Which consequences?

Consider now a large number of non-performing loans.

18. What will be the implication on many banks? Explain.

b) And on the respective depositors? Explain.

19. Explain how in the Great Depression the failure of some banks because of non-performing loans soon led to the failures of other banks without significant non-performing loans.

20. Bank failures may reduce the availability of credit to many businesses. Why?
21. Falling prices lead to apprehension in the credit market. Apprehension by whom? Why?
22. What’s the consequence of that apprehension on output and prices? Explain.

23. In which ways does that effect on:

a) output tends to increase the apprehension in the credit market? Explain.
b) prices tends to increase the apprehension in the credit market? Explain.

24. A decline in the credit flow may or may not lead to a decline in the amount of outstanding debt. Why?
25. Observing what was happening in 1929-33, Irving Fischer concluded: “the more debtors pay, the more they owe”.


a) What did he mean?


b) Explain the economic mechanism that led to Fischer’s observation.

26. a) Explain why a decline in prices leads to a transfer of real income from debtors to savers.

b) Why do debtors tend to have a higher propensity to spend than savers?

c) What’s the effect on unemployment of the transfer of real income mentioned in a)? Explain.
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